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& B & & W= FEE (A%8)
700, 000 ML 70, 000 M (5,840 M)
700,000 m#=&%x 900,000 MLLT 80, 000 M (6,670 M)
900, 000 Mm% = 1,100,000 AT 90, 000 1 (7,500 M)
1,100, 000 m=#& % 1, 300, 000 HLUTF 100, 000 F (8,340 M)
1,300, 000 m=#&% 1,500, 000 HLUTF 110, 000 F (9,170 ®)
1,500,000 m##& = 1, 700, 000 MLLT 120,000 1 | (10,000 M)
1,700,000 M= = 1, 900, 000 MLLT 130,000 1 | (10,840 M)
1,900, 000 m=#& % 2, 100, 000 HLUTF 140,000 1 | (11,670 F)
2,100,000 m#i#&% 2, 300, 000 ML 150,000 3 | (12,500 M)
2,300, 000 m#%i#&% 2, 500, 000 AT 160,000 3 | (13,340 M)
2,500,000 m#i#&% 3,400, 000 ML 170,000 m | (14,170 M)

3,400,000 m##E % % RED 205D 1




